Efficiency vs P,

= 0.4
o

2 0.09
>

20.08
o

0.07
0.06
0.05
0.04
0.03
0.02
0.01

0
1.2

.................................................

e

........................................

Ratio

iy

o
©

=

o
iN

=

10 . Gedf’

—=— DQM_mKFIt_T1original

—e— DOQM_mkFit_TT_JanUpdate-noErr
—— DQM_mKFit_TT JanUpdate-statErr
—— DOM_mkFit_TT JanUpdate-systErr

= 0.1

2 F e
2.0.09F e AR
I E : :
G 0.08-prrrrirrrmrer e A
o o . .
E0.07F--rrmmmdeeeees SRR S S
o E : :
O e A A A S T
0.05;— S P Beeeeedenes
0.04;— P R RPREE 5
0.03f- PR SO
0.02F ST B it
0.01F " ’}i | 1 ‘|
E Y e I ;
o Of |||’+||
& ap [ AL it |
- B 1T T T
-3 -2 -1 0 1 2 3

Efficiency vs ¢

o0.05F " " T T T T
o B i boiE i
S A
[5) . . . . . . .

15 - e - e =1 P =it




	Contents
	Page 1


